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qrr= fder
TH U9 TS I & I, WRT-37 ST WIT-& & 90 WA E | SR S 9 % e 3 I foren ¥ |

The question paper comprises of two Sections, A and B. You are to attempt both the sections.

aft ye fEd 2

All questions are compulsory.

3TMTeR! WRT-31 3IX WRT-o & Tft U1 o 3R Jore - Yo fored 2l |

All questions of Section-A and all questions of Section-B are to be attempted separately.

UTTT-37 & TR HEA1 1 Y 3 % T¥ Ueh-Ueh 3ieh o § | T S0 Ueh-Ueh I3 372781 Ueh-Ueh AT H < |
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

31 & U9 H&A1 4§ 7% 797 &1 & 3Tl & &1 Tk o @I 30-30 VTeal A F |
Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered in
about 30 words each.

WRT-37 &% U9 T 8 W 19 & U - = 3{ahT o © | TToh ST YT 50-50 9T&a) A < |
Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

WTT-37 3 Y A 20 T 24 % T Ure- U= ekl & & | TTH ST T 70-70 9 H T |
Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

WFT-& & T S 25 ¥ 42 3 Y JANTHS Hivd R NG Sgfoshedt T2 €1 T T8 Teh-Udh 3ich
F 1 feu T =R fawedi # ¥ MU FHod Tk T ST foahed T § |
Question numbers 25 to 42 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate response
out of the four provided to you.
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HIT-3 / SECTION-A

1 IR &5 9 I e 82 1

What is meant by magnetic field.

2 e ST H IS 1 Tfd % fog e SoRerEt 2 1

What moves the food in the digestive organs ?

3 - el & GeH H eI Sl GHEE | 1

Explain the term “Hot Spots” in the context of geothermal energy production.

4 TF B A FS UGt & YRR A qe1 g3 T RS T 9% 98 Al T A T R dE w2
fore agrel & forw ©1 Wt g T i IUT WEHAN R :
(i) FIfEH ISl NaHCO;
(i) TMENIT  Ccao
(i) ~ dfFT e NaOH
(iv) = Ca(OH),
A student collected common names and formulae of some substances but he forgot to note which
formula is for which compound. Help him to match the correct formula.
(i) Causticsoda  NaHCO;
(ii) Slaked lime Cao
(iii) Baking soda NaOH
(iv) Lime Ca(OH),
5 (@)  TEE(TR HHRT Sl qfad i o o8 Sl e it | 2
by Ffafed TEmEfs gHiw S Ggfaa i
Na+ H>O — NaOH +H,

()
(b)

State the law that is followed by balancing a chemical equation
Balance the following chemical equation
Na+ H,O — NaOH +H;

6 2m T TAT 1.55 X 10~ 6m2 STTYEIFR & &5%al alct Th ©1q o aR 1 JFale F1q wits | 9fg a1 2
I IfeRIERdT 2.8 X 10730m T |

Calculate the resistance of a metal wire of length 2m and area of cross section 1.55 X 10™¢m?, if
the resistivity of the metal be 2.8 x1078(0m ?
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7 forga ferrai 1 Tordll To=ld & 9@ 4oit shH H ST i STU&T THIRN ShH H SIS oh o¥l &l = 2
I |

List the advantages of connecting electrical devices in parallel with an electrical source instead
of connecting them in series ?

8 T 1 2B ®, Ry fafae — 3
(a) Toerd Ol W wnfies wt Wd =@ gt 2 |
(b) <R et W aR-9IR Y2 AT AT © |

() Ucgfafram wipfaew ereaeen & &l aret < 21

Give reason why-
(@)  Electrical wires are coated with plastic.
(b)  Itis necessary to paint iron grills frequently.

(¢)  Aluminium is not found in native state.

9 TS AT P I % TIHG H1 W0 FA1 T I8 IR F hSRa" S 1 A5 I § TG § 3
Aferd pH 5.5 8 f1 81 W Heaifia g €1
(@) T PRI TE=TT |
(b)  wiehote qe TieTEdl @M W 98 H el € a1 82 <l % &7 ol Yok & forg &
AT =T ?

A Compound P forms the enamel of teeth. It is the hardest substance of the body. It doesn’t
dissolve in water but gets corroded when the pH is lowered below 5.5

(@) Identify the compound P

(b) How does it undergo damage due to eating chocolate and sweets ? What should
we do to prevent tooth decay ?

10 T3l 1 Wishadr Aot % e ¥ fSieh g WE S &1 UHfA H T8 Tk wEE 3R ZnCO; kY 3
o U Sl ¥ 1 39k I U 3y fashfid v o = fafiew ) e gl s o fafed |

Zinc is a metal found in the middle of the activity series of metals. In nature, it is found as a
carbonate ore, ZnCQOs;. Mention the steps carried out for its extraction from the ore. Support
with equations.

11 =1 Tamafre srfufeansti & 8 W fofa SM oren foRiw aror fafea 3
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(a)  TRIREE WHTHE % faee § g %1 W e

(b) e | HE S S |
()  forT s=r = 1 9 9 SUER AT

State one characterstic observation in each of the following chemical reactions that occur when
(a) lemon juice is added gradually to potassium permagnate solution
(b) wax is burned in a cndle

(©) quicklime is treated with water

12 T dTeteh 9 2 e 96 10 A 911 wanfed st 3
(i) =TT % ThTE SATHES HIE & el W 3a THI H YaIed ST ol T 1 Yeheld shifT |
(i) 9 sARM H AW 1.6x 10~ 19 C & 1 Yanifed € el SAaiql shi HE&AT H HifoTT |

A current of 10 A flows through a conductor for two minutes.
(1) Calculate the amount of charge passed through unit area of cross section of the
conductor.

(if) If the charge of an electron is 1.6 x 10~12 C, then calculate the total number of electrons
flowing.

13 (i) WA =R 1 G 50Hz &1 36 U I 1 A § 2 Th Gehee Ig o fawm 3
fopat o afafda et 827 3101 SR R wiea <fs
(i) e ¥4 g SfA DC i g fafes |

(1) Alternating current has a frequency of 50Hz. What is meant by this statement ? How
many times does it change its direction in one second ? Give reason for your answer.
(i) Mention the frequency of D.C that is given by a cell.

14 frefafed § @ yde & fae w1y fafa 3
(a)  aferor eEd TS fram
(b)y  TRITHT 1 9H B |
()  TIHT 1 i g% e

Write one application of each of the following :-
(@) Right hand thumb rule

(b) Fleming’s left hand rule

(©) Fleming’s right hand rule
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15 (i) T oIy gREM % Gyl & fu SRiEE %1 89 oTevas §1 sH 3
31=: =t uf~er o1 A fafed S 59 e o1 Je0 il 81 qHd IR H 3Tt raferfg fafeu
(ii) =] RAH 1 g =R fasimand fafaw |
(1) A particular hormone requires iodine for its synthesis. Name the

endocrine gland which secretes this hormone and state its location in the human body.

(if) List any four characteristics of animal hormones.

16 (a) AT & W ¥R 1 T fafed st HeEn i wE S o 3
(b)  ifa =t 3 ferdrard fafa |
(c) sk 1 S A1 9M TRl W@ H =er H Tgrrdn il 82
(d)  =frss &1 St ford qohr afash Y 8T a1 8 2

(a) Name the main thinking part of the brain
(b) Write two features of movement
() Which part of hind brain helps us to walk in a straight line ?

(d) How brain box protects brain ?

17 (a)  TASTEH T Fed §7? 3
(b)  3THten B e Ul | o @ § 9 g 2
() oo % 31 TR % fag srten # Selt S ward o6 A fafe

(@) What are enzymes ?
(b) What happens inside the food vacuole in amoeba during digestion process ?

() Name the finger like extensions present in amoeba for ingestion of food.
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18 R Sl 9T i 3R STemed $UHl o <8 9 3ol Sl WTH i J fasied sifsw

Differentiate between energy obtained by burning fossil fuels and that obtained as solar
energy.

19 e foemea # et Sensll’ foave W U 9l UfadiiTar STEitSd ot | dedl 9 39 fawg WS-
3T foeR fora & 37 1 8l T 9 T O 34 O W o o 7 foaw arn)
(@) 39 ‘el sl WHE Qg A

(b) 9 YR I FERTT e s fone™ = & < ¥ goa gfed FTT el ©
? fafaw |

There was a poster making competition in a school on a topic “‘SAVE ENERGY’. The students
were also asked to give write ups on this topic.

A student of the school is unable to make the write up on ‘SAVE ENERGY’.
(a) Suggest him two steps to ‘SAVE ENERGY ?

(b) Mention the value which the school is trying to give its students by holding
such a competition.

20 (a)  HTHER 1 qEEfTE M SR ¥ fafeu

(b)  FE U A R AR IR SiafieR & 1 fara €9 o HRl dSHed ok TR T HiR-
I & B W& | 39 I Sl U GHIHI & FRI GHAE |

() HNEE I :
()  CO, %I I3 & I § TR S & |
(i)  ST& CO, I e A | 9 % YT Y TSR I § |

(@) Write the chemical name and formula of marble.

(b) It has been found that marbles of Taj are getting corroded due to development of
industrial areas around it. Explain this fact giving a chemical equation.

(©) (1) What happens when CO; is passed through lime water ?

(i) What happens when CO; is passed in excess through lime
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water?

21 e # 2 et vEmrfTe sifufsran o1 yenr fafaw qen w1 THEfTe g | e it
()  Hiferm % fom a9y o S S )
(i) <1 9eeR T T foRAT ST ¥
(i)  FoeeR smEe *1 g & g 9 e foman S g
(iv) 3T Ste | fosga yanfed i St &1
(v) T 3iR gEeee w1 e B faemn s ¥

Mention the type of chemical reaction that takes place when :

(i) a magnesium ribbon is burnt in air

(if) Lime-stone is heated

(i)  Silver-bromide is exposed to sunlight

(iv)  electricity is passed through acidified water

(v) ammonia and hydrogen chloride are mixed with each other ?

Write the chemical equation for each reaction.

22 (a)  fomIa 1 9109 yuE RN R? 9 UWE W EE w9 < fogm wfee s g 9|
(b) 1 Tera sow 220 V % fag St @ daifsa fran mn @1 afg so gra off R farga ew
0.50 A & a1 sesl &t SIfeRT T shifoTg |
(C) 400 W STIHdI 1 FIE ThieRR 8 o< fafed & owar &1 wfdfe Suys it kWh |
gfiehfera ST |
(d) foraare qen fererare w1 # =R fafau

(a) What is heating effect of current ? List two electrical appliances which work on this

effect ?

(b) An electric bulb is connected to a 220 V generator. If the current drawn by the bulb is
0.50 A find its power.

() An electric refrigerator rated 400 W operates 8 hours a day. Calculate the energy per
day in kWh.

(d) State the difference between kilowatt and kilowatt hour.
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23 ()  Soitehn | HeATST < Sl A1 go WY A T o1 STk ofcqel shiford | foegd aiue 5
ol SEE] NG i Eif=rd |
(b) 7= ufuy @1 goar wfawy @ i
6()
— MM

1002
VWWA

150

K

A%

(@) Derive an expression to find the equivalent resistance of three resistors connected in
series. Also draw the schematic diagram of the circuit.

(b) Find the equivalent resistance of the following circuit.
6Q)
—VVWW—
10Q)
VWA

150

K
v

24 T I% Tohd TohR HET ¥ g Fohd © T Scasia a1 IRE=R01 a1 S 31|16l =1 &1 YFieR § | 5

How can we summarise that the excretory systemis a close partner with both circulatory and
endocrine system ?

WFT-& / SECTION - B

25 = geiie e fosli # o wemelt # geegee ¥ 19 fawifed gt ? 1
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=— NaCl =1— Na,CO,
[ESEE]

__é_
= faeraq ()

(@ i (b) iv (d) i
In figures given below, in which test tube, a gas will be released with effervescence ?

= hydrochloric hydrochloric
acid acid
— NaCl — Na,CO,
solution
hydrochloric hydrochloric
acid acid
% litmus — litmus
.. solution (Red) solution (blue)
(iii)
(@) i (b) (©) iv (d) ii

26 11 & & = fed 73 faeee &1 pH AW 910 &3 & fa w=im 78 foran smar?

(@) faeag Tw (b) TR Ya&

() pHIW (d) pHHIX

Which one of the following is not used to find the pH of a given solution ?
(@) litmus paper (b) universal indicator

() pH paper (d) pH meter
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27 1 § @ & @ ¥1g Cu T CuSO, faerem & foeenfia &2 dadt © | 1
(@) e (b)  E
)  wifem @ A
Which of the following metal can displace Cu from CuSO; solution ?
(@) Silver (b) Gold
(©) Platinum (d) Iron
28 = <t E vEmEfTeR stfufshanet # | WA sifufsha 9 grit 5T - 1

(a) HIR Fethe fontedl 1 3 Aothe fhedl o STl ST 21
(b) TR ! T Hic ! FHIWR Yothe faeraq B Sl ST § |

() o 93 gu = & SToF <l < ¥

(d) IR &I F T Zhe i I Yothe faerad o el S €|

Out of the following chemical reactions a combination reaction will take place when:-
(@) Copper sulphate crystals are added to iron sulphate crystals

(b)  Ironnail is put in a copper sulphate solution

(c)  Water is added to quicklime

(d) A piece of copper metal is put in a ferrous sulphate solution

29 W i hieEH SedEs & |1y AR % e wra T e @ 1
(a)  SEEH
(b) A
)  SvFgHl
(d) &=

The solution obtained after reaction of water on calcium oxide is :
(@) Neutral

(b) Acidic
(©) Amphoteric
(d) Basic

30 ST W1 Fe, Cu, Zn, 3 Al &1 Gishaar sl 37eh fora foreema eafufsran o 991 0 & o9=d S9! 1
fehordt & Sed hA B foram &1 W FH T :
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(@) Fe>Zn>Cu> Al (b) Al>Zn>Fe>Cu
(©) Zn> Al>Fe>Cu (d) Al>Fe>7Zn>Cu

Anagha had to write the reactivity of Fe, Cu, Zn, Al after performing the displacement
reaction experiments in decreasing order of their reactivity. The correct order is -

(@) Fe>Zn>Cu> Al (b) Al>Zn>Fe>Cu

(©) Zn> Al>Fe>Cu (d) Al>Fe>7Zn>Cu

31 o TRt ST i el Sl S Tothe faoam | o a1 § 3 $© 999 I9EK Y800 i WA 1
T ST ®
(a) foom@E wie g0 & TR
(b) IS AfufRan 7 g8 7
(c)  focTam Wikt &0 &1 1 ¥ 9T STERA i Shicd 1 Y8 W70 ¥ &1 T 2 |
) fooEa fen @ e

When an iron nail is added to zinc sulphate solution it is observed after some time that
(@) the solution turns pale green

(b) no reaction takes place

() the solution turns pale green and the surface of iron nails becomes silvery white
(d) the solution turns blue

32 Teh S 1 YA feRan ST ® — 1
(@) favwaTR T @A & fou |
(b) foga am AYE & o
() foga favya ama & feaw )
(d) @Y 9YF ¥ 596 * fau|

An battery is used to
(@) maintain a potential difference
(b)  measure electric current

(c)  measure electric potential
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(d) safeguard against short - circuit

33 = fed T fomr o wialiy 6t we) sgewen § —

30

pioe

6 ()

—/\/\/\_“_
90

(@ 60Q,30Q3R9Q gt H T

(b) 9Q 3R e QURE | qom 7% FANH 3 Q & e Foft H 7

© 306Q3R9QUREH T

d) 3QdAMeQURE H AR 9Q IR H T

Resistors in the given figure, correct arrangement is:

30

pioe

6 ()

]
90

(@ 6Q,30Qand9Q arein series

(b) 9 Qand 6 Q are in parallel and the combination is in series with 3 Q

() 3Q,6Qand9 Q are in parallel

(d) 3Q,6Qarein parallel and 9 Q is in series

34 foret Ttex o 0 A o 991 0.5 A o & o= 20 991 € | 39 UHIT &1 STeUaHish ©:
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(@) 0.005 A (b) 0.01 A
(©) 0.05 A (d) 0.025 A
In an ammeter there are 20 divisions between 0 A mark and 0.5 A mark. The least count of the
ammeter is:
(@) 0.005 A (b) 0.01 A
() 0.05A (d) 0.025 A

35 it S°H H FAITSA < FfaUeehi R, 91 R, 1 qod TRUY A & & YA H T o6 A 9= @i 1
o7 faer wan foman | o 9ftde <

(A
®
R,
6V Rz
Battery (-
eliminator|

(a)  leedl V &I UIedich T 9= ¥R | Sl Iredieh Ted |

(b) G [ YIS Rl W] dfeedl V 3l qIgdieh e |

(C)  ©RT 1 J Sieedl V Qi Sl Hal UIaaich |

(d) &R SeEdl V SHI 1 e TS |

In an experiment to find the equivalent resistance of a series of combination of two resistors Ry
and R» a student uses the circuit shown here :

®
R,
6V R,
Battery (s
eliminator|
The circuit will give
(a) Correct reading for voltage V but incorrect reading for current I
(b) Correct reading for current I but incorrect reading for voltage V
() Correct reading for both current I and voltage V

(d) Incorrect reading for both current I and voltage V

Page 13 of 17



JSUNIL TUTORIAL

36 fem@me e uftgy H |, A 3R B % "2 9 fomer o St €1 A 3R BH uer qed wflim R ® 1
3R R 1 7 B-

20)
AN

30 5 40
AN AN

(a) R=10Q

(b) R=125Q

() R=15Q

(d) R=18/5Q

In the circuit shown, some potential difference is applied between A and B. The equivalent
resistance between A and B is R. The value of R wil be,

2Q
AN
al 30 z0 e g
6Q
AN
(a) R=10Q
(b) R=125Q
() R=15Q
(d) R=18/5Q

37 T B A H el w wWise " ufw gaAcen H RIRod T 9ed 1 HRd FH k1
T 38 T L e
(a) TEAd: ®& gAESH et
(b)  HEAA: §&H GHENH et
©) 9o ®& GHENH et 3R R gaq vorieH et
(d) IS geH THESE gEl 3R R a1 gurEieH e
Student wanted to focus epidermal peel slide under low power objective of microscope. To
focus it he should be using :

(@) coarse adjuster knob mainly
(b) fine adjuster knob mainly
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() first coarse adjuster knob and then fine adjuster knob
(d)  first fine adjuster knob and then coarse adjuster knob

38 oit st fererd fereedt o1 stfaifSia sl SRI9u s 99 399 Afaier AR 1 geq & fag: 1
(a) 9 EW L)
(b)  Gifeam FiEe & fooea @ = ¥
©  fheet v @ Hied ¥
@ % I #d El
While preparing a temporary stained mount of a leaf epidermal peel, the extra stain is
removed by:
(@) Washing with water
(b) Washing with sodium chloride solution
() Soaking with filter paper
(d) Absorbing with cotton wool

39 YehTST YT & TN B BE1 ! 98 ST fou e fop 9 = Wed fovd ¢ e § o 9 ol a1
I SAURSI hTTS Tk | A 7 Ul ol ot fgg @, B A &0 9, C 7 et 9 991 D A hreft fgu 4
ThT | 9 4 Fie o o1 W b1 GA&T07 foran = a1 afkoms yme gew for 59 9rii 6 W uw =@l gan A
o —

(a) o, gl iR el fgw 4 @k gu |
(b) & fZu ¥ eHgul

(c) el IR el figu ¥ g% gu|
(@) PR «ff Tk gL 9

In an experiment on photosynthesis, students were instructed to cover a portion of a leaf of a
de-starched potted plant with opaque paper.

“A” covered one of the leaves with red strip, “B” with green, “C” with blue and “D” with
black. When the starch test was done on the leaves after 4 hours, the result showed no starch
in:

(@)  The portion covered with red, green and blue strips
(b)  The portion covered with green strip

(c)  The portion covered with black and blue strips
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(d)  Any of the covered portions.

40 e ool | ®-T1/8 o T whTT HYwor & foTT Wentst ot ST STeavas § % SRl bl Tl 1

NIl / 91
AlCOhOl Water
Pap_er
strip Alcohol
Water
Potted Plant

0 (Iv)

@ 1 (b) I © 13RI @ LusiRv

The figure which does not illustrate any of the steps of the experiment to show that ‘light is
necessary for photosynthesis’, is:

- Alcohol
strip
Water
Potted Plant
) (Iv)
@ I (b) I (d) LllandIV
41 YIET & SRA CO, STSI Bt € <9 o JanT § it =it 7 fopd 9d €, a8 & — 1

(a) Ik T HIR (b) IR AU FS T
(c) TR q1 391A g (d) 3R B o1 3T

The seeds used in the experiment to show that CO, is given out during respiration are:

(@) Dryand hard (b) Hard and slightly moistened
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(¢)  Softand boiled (d) Germinating and moistened

42 YIE % SRH CO, SfSId Bt © <9 & WA § a8 =l S99 & —

(a) SISl 1 T (b) T2 79 I A HET

(c)  ATRHTST =T SFerenwor (d) S SESEEIES I Sl

The use of Vaseline in the experiment to show that CO, is given out during respiration, is to:
(@)  lubricate the joints (b) Make the set-up air-tight

(c)  Absorb oxygen (d) Absorb carbon dioxide

Kok
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